Psi(r)

Ratio to ATLAS

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.2

[EEY

0.5

7000 GeV pp tt
[ rrrrrT gy rrrrro T e e e T T
:— Integral jet shapeW (b-jets, p_>70, In| < 2.5) —:
~  m  ATLAS ]
~ —A— Pythia 6.428 370 .
— --+-- Pythia 6.428 378 7
- Pythia 6.428 379 =
— . BB a8
S ]
- X ]
N — | | | | | L, — | | | | | | | [ ]
I L L L

R — A A ——— A % yasum —7x paay pasy |

I T S SR T I T S SR T I T S SR T I T S SR T l

0 0.1 0.2 0.3 0.4

Rivet 3.1.10, = 2.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


